Com S S&m ]

13533/E 760
(— 3

RegNo.| | | | | [ [ ||

l B,
0 T

V Semester B.Com. Degree Examination,
October/November 2014

(Repeaters)
COMPUTER APPLICATIONS IN BUSINESS - IV

Tme : 3 Hours| |Max. Marks : 80

Instructions : 1) Answer all Sections, subject to internal choice.

2) Section D question no. 13 case study is compulsory.

SECTION - A ““‘-Hh\

1. Answer any ten questions. Each question carries 2 marks : (10 x 2 = 20)

|

(@) Define System.

(b) Mention the components of system.

¢) Name the subsystems of Human Resource.

d) Who is System Analyst?

(e) Difference between data and information.
() Mention the classification of Accounts.

(g7 What is compound journal entry?

Ty

(h) Write the use of F5 and F6 keys in tally.
(i)  List any four predefined groups in tally.
(1) What is Form?

(k) Expand IDE and OLE.

()]  Write the syntax of InputBox in VB.

SECTION - B
Answer any THREE questions. Each question carries 5 marks: (3% 5 = 15)

2. Explain Transaction Processing System.

3. Explain the components of MIS.

1 P.T.O.
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4. Discuss the traditional Accounting system. |
k|
S.  Explain briefly any five voucher types of tally. |

6. Write a VB program to find largest of three numbers.

7. Explain any five common properties of Form Control.

SECTION - C
Answer any two questions. Each question carries 15 marks : (2 x 15 = 30)
8. Explain the characteristics of a system.
9.

Discuss in detail MIS and its subsystems.

12.  Writer a short note on :
(@) Reports in tally
(b)  System flowchart
(¢} Data types in VB
SECTION - D ﬁ

Case study (Compulsory) : ‘ | (1 x 15 = 15)

prepare and display of examination Result which
accepts Roll No. three subjects m

and display students grade. (Dis
Fail)

arks, calculate total marks

and percentage
tinction, First Class, Second

Class, Pass or
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Time : 3 Hours)

October /Nov

Commerce
(KUD - Repeaters)
INCOME TAX -

Instructtnns/mwm :

(c)

(d)

()

(f)

(B)

Who is non-resident individual?
V0T JeTdead) =3 08B adndy?

Name any four fully taxable allowances,
311wz Jewo oen), z,:i:!ﬂ.r'h.ﬁﬁi.gL 2102

What do you mean by self occu

pied property?
r.ﬁmm o8 d0TBerH?

mwm:""“ﬂ‘h-r:——n-—- m——

R R M, d0

egree Examination,
€mber 2014

[Max. Marks - 80

(10 x 2 = 20)

P.T.0.
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(h)

b)

(k)

(1)

Answer any three of the f '
ollowin ' :
YRS NON e S0e0% evdbLD :g et

I ) («
How do you treat interest paid on loan

house property? 3.
i Stgen TG Wed S0r0F WRLR) A B! Soried D07 5

Give any four allowed expenditures related to business.
33208, Zowopis Wesad wee, Su[ivey 3920

What is Profession?
;ju‘é 20006707

What do you mean by a written down value?
BYNONE 3700, (WDV) 200des)?

A machinery has purchased for Rs. 50,000 on 1.6.2013. This 1s the only
one asset in that block. The rate of depreciation is at 15%

Find out the allowable depreciation for the previous year 2013-14,

%083 J@r 2013-1409, abodneS¥0m woday 3. 1.6.2013 ot te. 50,000
Ot DBeBTenon). DO o abodereIdny 8T8 Fowoldd ey
(Block) 39013 288 abodexsdnmid. 880 2oed7 358¢ 50 15% =d.

er] : 3
808 Jdr 2014- 158 Jowo2d & ulob ATEYabal) For HBDD.
SECTION - B/2yor - w

(3x5=1g)

2. Determine the ' rom
: portion of agriculture i '
the following sources ot‘inr:irmes M Bt
(a)  Agriculture L
: products rai
it Cls raised and used as raw material in his own S
(b)  Income from rubber plantation.
() Coffee grown and cured,
(d) Tea grown and manufactured.
& 3UNS umad S
endd
o L5ARR) 5A 230 smabg TBReIT) 3936
L 208 euBRoabd 3w 239G T UIF YR B 33 i
o o < T, B Iorienh evzalechy
WO AdnPon wor umealy o
c) % oy Yeanzennd,
(d) w28 5
Jo YU BT e NS,
2
AR S U0 il S S

i':,‘ :
taken for the construction of the : -Imll

e

13535/E 820

s appointed as an engineer in a private

i i ioin his duty in England on
in England. He leaves India first time to join \ ¢
;%ngezrgla. Fingd out his residential status for the Assessment year 2014 ;5.
ﬁﬁmm&b 7003cady Ton0ETING), qortodd aR3N ﬁo.f;‘oiraoddqﬂ gordeadysmen ST

Bp0Boes. 38, oo Jegrdriog e 76.9.2013 Cokdy RUSIT D3, I
uaddaﬂﬁz) Db BRer>38OFHTO mde SHRBO wWedaiRhd. goosdrs SJEF 2014_156.5
o el r

SoroDraod YT TBT 330333, 3920.

@

Dhanraj an Indian citizen who 1

an employee in Bajaj Auto Ltd. Pune. He gives the following

Mr. Nagaraj 1s _
¢ iy ding his salary for the previous year 20 13-14:

information regar
(a) Basic Salary Rs. 18,000 p.m.
(b) Dearness allowances Rs.
retirement benefit). | ,
(c) He and his Co. contribute at 15% of his salary to recognised provident

fund.
(d) Interest credited to RPF is Rs. 10,500 at 14% p.a.

Calculate his gross salary for the assessment year 2014-15.
Soroen oS0y wen uklec d. Frsad, L Jelerlglar]ed Lobx ke 2013-148,

SoroBNE08 BFT FowoVd ISV, e BYATS ed>IT.
(a) Swee Se3d ke, 18,000 I.3o.
(b) %o, 0. 9,450 T30 (8. 4,500 I3 cewrion 2e0538).
©  u3s S03) osdak Fowvs 15% Sodrode SRTS Jdd B30 B ZSRT.
d) @53 Bt de. 10,500 wAED 14% Sod wooiRnG.
U3 ) FOWVSRY Ford RO,

9,450 p.m. (Rs. 4,500 p.m. allows for

From the following particulars of a house property of Mr. Yatiraj, w}ﬂf:h comes
under rent control Act, find out the gross annual value for the previous year

2013-14.

Municipal Value - Rs. 80,000
Fair rent \ - Rs. 70,000
Standard rent - Rs. 84,000
Rent received - Rs. 90,000

g gt gk dITRYrROrTN LoDs JIAF 2013-14%, Rowodrdod oddvets &30
Sodoh whi) TAFS IPTEY gord LBALD. o Soxfody wedrt dobo3e TaRAIN
wYT3E.

Snd Zye 3P, —- dw. 80,000
mR,0dowd wear - dw. 70,000
I3neseg3 wodrt ~ dw. 84,000
h;d&d an - dw. 90,000
3 P.T.O.
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6.

ting of plant A of an industry
g of the previous year. On
3,43,750 and received a

The written down value of a block of asset consis
was Rs. 75,000 as on 1.4.2013, at the beginnin
1.9.2013 a new plant B’ was purchased for Rs.
subsidy of Rs. 1,25,000 for the same from the government.

and written down value of the above

Calculate the allowable depreciation
5%.

014. The rate of depreciation is at 1
g Bd=g 1.4.2013 dor &wd

osﬂ DBeDTeRoI).

block of asset as on 31.3.2
s30h roBRoBoe) T ok ‘¥ RS HoDT I3 00
SJAVAE 3P0, O, 75,000 @d. 1.9.2013 &9 ;083 2y dw. 3,43,75
S03) F0TadBed Je. 1,25,000 3&20d dﬁfdaigl;idobuam.

B rbodnt 335¢ BO) 1
ST, 3920.

5% ud. FAEY, 31.3.2014 dord & wpol FIFY 3033 SYNAD

Calculate the taxable income of Dr. Nataraj under the head profits and gains

from business or profession for the assessment year 2014-15.
(a) Income/Receipts :
(i)  Visiting fees Rs. 1,30,000
(ii) Consultation fees Rs. 1,25,000
(iii) Sale of medicine Rs. 10,000
(iv) Gift from daughter Rs. 25,000
(v) Dividend from Indian Co. Rs. 14,000
(b) Payments :
(i) Rent of hospital Rs. 36,000
(i) Staff salaries Rs. 45,000
(iiij Motor car expenses Rs. 18,000
(iv) Domestic expenses Rs. 20,000
(c) Other Information :
(i)  50% of the car is used for his personal purpose.

(i) Allowable depreciation on car is Rs. 4,000

4

2B EE R F o RESL PEDRY
gaa! Fhilge 884, E*aig_i}fy'jl;ﬁfﬁ’w— —_—

300808 SAF 20]4"156& FowoRiTod @e. WLV
ﬁd\}ﬂ 2020030 8B0LY, F03) HBODD.

(a) woeod/ :.::mdﬁw :
) wets B 8w 1,30,000
(ii) 2x3peleude 800, 0R. 1,25,000
(i) BIG 00083 OR. 10,000
(iv) Soriwod goedd . 25,000
(v) oddead> 505D 200 ewgeos de. 14,000

(b) wiSANe
(i) goaseniady wedrt dL. 36,000

(ii) 20D Fowv dR. 45,000
(iii) Sects0 5200 ;Et{,‘ dw. 18,000
(iv) ri® 3, de. 20,000

(c) =0 S&3ne
(i) ©eOsyS0% o), 2595RRA evdalechueaNd.

(i) o908 Soed ZFFY de. 4,000 wRSNT RN,

SECTION - C/oeri - 8

Question 13 1s compulsory :

Answer any three of the following questions.
(3 x 15 = 45)

gUNSI)nve Weved S0,e0Y, ov3020. I8 13 mamm:

What is agriculture income? Explain with the examples.

ga o0k HoBveR)? eveETEYeob! DSID0.

The following are the incomes of Ramraj for the previous year 2013-14:
(a) Income from agriculture in Bangladesh Rs. 80,000.
(b) Salary received in India but the service rendered

Rs. 40,000.
(c) Income from profession in Hubli Rs. 60,000.
Rs. 10,000, land situated 1n Badami.

(d) Income from agriculture

(e) Income from business in Nepal but controlled from India (1/3 received 1M
India) Rs. 60,000.

(i Income earned and

in Iran (computed)

received in U.K. and the amount was deposited there

Rs. 20,000.
(g) Past untaxed foreign income brought into India during the previous year
Rs. 30,000.
Compute the gross income, if he is (i) Resident (ii) Not ordinary resident
(iii) Non-resident.
P.T.O.
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10.

VA RS DG A i s i s nmem—

R

2013-14 Lobs &g, 302092503 3¢ DoOTE VST BEOD A30ne 81 FY¥NT03 RS :

(@) worUedw ga espaody de. 80,000.

(b) @O AeS ZOEH,N 10T, TG Roww (S5aed SRFSNG) dw. 40,000,

(c) F3oleomdod BwY abd BB Lwead de. 60,000.

(d) wEALATHT BACTVHOT SBT FA ywead de. 10,000.

(e) o038 AaLOZNTATHS Bemvtdabh IIHcDor wod sweod (1/3 TRy
eu3ndade sdabennd) de. 60,000.

()  cdod.obdod ZeImh wdabe IPE TowdSD), edabe deded SPEONG,
dwe. 20,000.

(8) &oDF IRFMYO nas 3oMn wiSED MmRobSR), I35 HodS IRFTY, PU3E,

Jayaraj is a plant engineer in Toyoto Ltd. Chennai, furnishes the following
information of his salary for the previous year 2013-14.

30wahd. dw. 30,000.

(i) o3 TSPF JDAIRASG RoBIFBE (i) OIF HINRT, ASTHAIRNTBT
2oBPFEE  (iii) OSF VITaIPNG JoBPFBY, oIT whd), SoeabIR) Fordd
LHBoLO.

WRHIRT gy

5
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gc w00 usdo B3,T Lealecks Rogobd, I 0k gotdeaydoaNmRT. HodF S3F
2013-14%, SowodaEod B3cH 33 Fowdd TNV, & g9NSod Dero3T.

(a) Swee Je3s de. 30,000 3.0

S0t 134, 00, 8,000 330, (333 Ry LoSAIT).

Wt SOE dorieh 3100 Se3TTA 7S

(d) ®nd Feeed ¥ de. 2,000 3,.40.

(€) 3ComERTIBLO 334 oA 1,500 &,.80. (dwe. 500 3,.30. 393, svsaleeNmeRNd).

) @ seod 33 de. 1,000 3.do

@ 6S8 s dopuRs B 0a. 1,800 F.do

1 Soaaleoss),
Sos wedrt P33, dR. 9,000 &,.30. w3a> de. 12,0008, .80. el ;

(a) Basic pay Rs. 30,000 p.m.

(b) Dearness allowances Rs. 8,000 p.m. (allowed for retirement benefit)
(c) Bonus, equal to two months basic pay.

(d) City compensatory allowance Rs. 2,000 p.m.

(e) Conveyance allowance Rs. 1,500 p.m. (He utilises Rs, 500 p.m.)

() Medical allowance Rs. 1,000 p.m.

(g} Education allowance for his child Rs. 1,800 p.m.

(h) House rent allowance Rs. 9,000 p.m. He is living in a rented house, for
which he pays a rent of Rs. 12,000 p.m.

(i He was provided with a car of 1600 cc for both office and personal use.
The Co. provided all running and maintenance expenditure with driver.

Compute his salary income.

(h)
it B egmzszg%d
= A, oTDodD
(i) oAt 1600 % 2 5a8R0BR), FL5ed o3y avesh evzolecrizan m::aﬂ "
& 50t dﬂdddﬁi.lmnmma‘g 5203 o 0B ISFHF 3D =030
S S0wds SreadST), god) LBaLD.
i i these houses
11. Yatiraj is the owner of two houses at Hubli. The particulars of the
‘ for the previous year 2013-14 are as under : ;
House I House
SOP LOP
1 al 2,00,000 3,00,000
i ;:e 2,40,000 3,60,000
' e
Fair rental valu 2000 ot o
Standard rent ) Eyli
et rCCEi‘:d 10% of M.V. 10% of M.V.
Municipal tax pal > P
tion
rest on loan for construc
:;:ur to completion, completed 3 years before) o0 000 Lt
Interest for the year (2013-14) ’
Repayment of Housing loan during the 120,500 40,000
previous year
Compute his income from house property o
7
e ki
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srio m zm% v 2,00,000 3,00,00%

ﬂm wwan e 2,40,000 3s60=

q.anaas warlt ‘ 1,92,000  2.70,000 5
ans o ; 3,60,000

10% of M.V.  10% of M.V..

8, 3d0 BoT 8 1B, - 80,000
. 8
B 90,000 1,20,000
g
‘ 1,20,000 60,00&-;
deaj‘md SR80, ’
12. profit and loss a/c, and information of M
| ‘compu '; ome .ﬁm business for the Assessment year 2014-1
" S Pthﬁtiﬁd;l.oas A/c for the year ending 31.3.2014
| % GBI 4 ¢ A & i
Wi ’“l“ ‘ﬁ W .
A 50 000 By Gross Profit ‘1,

3, ?‘H&.
18 000 By Bad debts recovered

m‘jk lﬂ,,u- .h
: @M % = 2,000 (previously disallowed)

‘91090 By Winnings from
7,128 lottery (gross) .

. B2 s
1,200% W
B o
'y :
el
8
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d.
Ro¥ Ju (Drawings) 11,250
QoY S, 3,750
Snd Jye 301 2.250
OS¢ oy 72.000 |
2,25,000
2,25,000

RIT Inddried :

(8)  ®ORY 50% o) 3 abds evsodeer SPANG.

(b)  Ae83rteod =38Pl B, 12,000 RE.

(€)  Bovy aSed sy G e Sortodny w0 el SV LIRS

13. Mr. Kaviraj is a non-govt. employee. A house owned Dy
provided to him. Kaviraj's salaries for valuation Of 25,000, |0
Rs. 2,40,000 for the year. Cost of furniture provided is Ks. 295, -

Calculate the value of rent free furnished house, if th
city where the population is

e house is situa d i

el

(a) 30 lakh
() 201 akh Bewbckes & o
(C) : .t‘I5|. lakh '. S0 BBt b ;

8¢ 5200%s ¥ BEFTEIC Bo0le0ETY, FPFETINGT. € TR0 3, IROR ‘;i

SoRadony, 83N TetTen wear d&:dmh DeRs. Wl 0&%3 Sorsod dﬁ’cﬁcﬁdmﬂ

Rowds) B, 2,40,000 A8, IROE 8 FosH dw. 25,000 IPOT SedocTTTE

QeRS. B

VeR) Wedt 0&3 & SodSad PO, & FYNS Torzirnvod For) LBOLD
(a) 30 og mERoa) SRUBY, FABIBY

| @ w-mg wR0a), Briowe), HAxo3EY =

i ?‘ |-.,

{* 1; ﬂm -‘ moﬁ dﬁdﬁq‘mmad

10
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Reg.No,L"l_'l i ]

V Semester B.Com.2 Degree Examination
October/November 2014 :

(Regular and Repeaters)
FUNDAMENTALS OF MANAGEMENT ACCOUNTING

(Compulsory)

- e

3 Hours] [Max. Marks : 80
ctions/BReTIeD :

1) Attempt the questions according to internal choice.
&0305 &20) OSSN g‘gﬂvﬂ VI 0206,

2) Non-Programmable calculator may be used.
VOW* F1d, I Sceer 89, eV Jebio® 205 200BO.

SECTION - A/ &%5n — &

Answer any ten of the following : (10 x 2 = 20)
BYNT cdnF)wmertse 53, 4L3DD :

(@) Define Management Accounting.
BEYI dﬁﬂ‘aaﬁ}d mﬁa{j 5,30.

(b) Mention any four advantages of management accounting.
SEY3I diaaﬁéd QlRF)we Toew, MUﬁdai.l 392,

(c) Mention any four tools of management accounting.
$8EY3 J5.503 B adnF)de o), Hoinqidddi 392

(d) What do you mean by ‘Financial Analysis’?
‘BT DB CRT OBWTETO?

(e) What do you mean by trend analysis?
S0BRLE (BB) DBeRTE HorTeRO?

(f) What is Acid test ratio?
e3:3) (627°) DOcE ROTII DoBBeRO?

1 P.T.O.
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() What is stock turnover ratio?

Bey, 39 g, 31 e SRurF, 2014 dog) RBAY e mwmaﬁgﬁq‘ ),
L] i &
, 30oritd i Hordem)?

- gedd 430030 aiutpismih 71033 20,

io; oo F enr 333 B%, 103
(h) What is operating cost ratio? s o o@D toms8 B. 31 .20148¢ Jdrd, $aBA0 2R 3,

e oA,
&_,ujm:!hd w?.—{ 1 [ITSNIrE | oodder)? :;. 750 df. ALY
(i)  State any four uses of funds flow m:;;::mt:m- — 20,000 BP0k 3,72,000
OB #b) BrIpd T, eruziodenriv), 3% © . 8.000 3,64 000
' 00 BeBs) : B03 , gL A
(j) State any four external sources of funds 0bed 1,60,0 - 2600
NBrY oimFtie Tae), 1A%, Soneriys, 3900 sl 40,000 033 bo, 24,

- s wratement.
(k) Mention any four objectives of cash flow statemen

00
o ©07208 12,0
soF e 40,000 “qam
Srich 803 BRI T euese Brivi), 2dob 00370F
e b o sYA0F %D 20,000
() State any two differences hetween funds flow StALCMS nt and cash fl, Tl i
slatement, i) 16,000
< 2 SIo0ekd OLSIF
08 303 a3 S8 wrics) H0H kifi BT asm)de SUB 759, KVE) JOND,
TLIC AN Wl 10,000
SECTION - B -
SEC / g : a0l 307 14,000
Answer any three of the following (3x8=15 138 40,000 P
BN 0IRF)TETH 208, VIDLD - Ay oot _ 2 00,000
4,00,000 i -
. 2 Explain different types of financial analysis. el
" - EPS).
Brveds HBcdriod HAG Beasrivi), HION0 o the following data, calculate the carning per sharc ( 1Rﬁ
ro :
3,  Following in the profit and loss account of ABC Co, Ltd , for the year ending h) 2,40,000
318t March 2014, Convert it into vertical income statement Equity share capital (Shares of Rs. 10 eac _—
. . 10 each) i
ABC Co. Ltd | 0% preference share capital (share of R. | 2 60,000
Profit and loss account of the year ending 313 201 4 Net profit hefore tax
Particulars R Particulars Rs. a
- : . Tax rate 50%
To Opening stock 20,000 By Sales 3,72,000 43 BebT AQ803w), d0B) LoD
To Purchanes 1,60,000 less . Returns #,000 3,64,000 84N S5lo3idod, B ! gs.
To Wages 80,000 By Closing stock 24,000 240,000
To Factory cxpenscs 40,000 By Interest and dividend 12,000 HesI®, B0 wodmay (O 100 Bedorivo) i
To Administrative expenscs 20,000 ¢ CHER 00,000
' g, 10 © Beddried) L
To Selling expenses 16,000 10%0 T3BL,, Bed) woBZY ( 5 60,000
To Interest on debentures 10,000 200 3205 gddd et o
To Income tnx 14,000
To Net profit 40,000 46 ¢ 50%
4,00,000 A _Udjogn p.T.O.
' 3
2

" _:-_..w'..' -
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5. me the ro"nmng pmﬂt ﬂﬂd lns’ “Ct\ul]nt . l‘.'ﬂh‘l]lﬂ'r 'ht" rund! fr,

operations.
Profit and loss Account of the year ending 31.3.2013
Particulars Rs Particulars Rs.
To Salaries to staff 80,000 By Gross profit 3,40,00,
To Rent 40,000 By Profit on sale of furniture 90,00,
To Printing and stationery 20,000 By sale of old machinery (profit) 20,0,
To Depreciation on plant 60,000 By Interest on investment 20,00,
To Depreciation on building 40,000 By Dividend received 20,00y,
To Goodwall written off 40,000
To Loss on sale of plant 20,000
To Provision for tax 40,000
To Proposed dividend 20,000
To Net profit 80,000
4,40,000 4,40,000
e ——

YN ey 33 B& wedood meolF SEERYod TdT ARV, Fod LBAWY :
ooy, 9% wed 31.3.13

239 da. D30 da.

20D Je3w 80,000 i) eyl 3,40,000
et 40,000 &edecTe0n IRoBT R 40.000
Sugn Hre Sead 53 M 20,000 ®¥c abo3 IRoBT eI 20,000
RS0 ZI60 60,000 EA0E Joed3 20,000
Supc S0 40,000 ©3%R08 JATR) 20,000
BRI 0% 30y 40,000
R0 IRTHID B2 20,000
30N ergy, 40,000
Noleess entgaoce 20,000
El::L# ey 820,000

14,40,000 " 4.40 000

e N --3—_ ~.r-

-

p mf.-l.'.iu'l‘i"i

23521/E 210

- d to leulate cash rom
toliowing nformation you &re required to calcula

rf“ﬂ'! the
Particulars 2010 2011
(R | (Rs |
S1ack 30 OO0 AR O
Debtors 60,000 72000

Bills rec evables 24 00 % 000
Bills pavable W GO0 36 D00

Creditors 48 D00 58 000
s 0t
Outstanding eXpenscs & O ) OO0

" Jg—— 1T
>011 is Rs. 60000 after chargng OGCPpreoialion

earned dunng . &
A O loss on  Sa of fxed askcly

Profit
12 000, goodwill writien off Ra

Rs .
Rs 4.000 dividend received on investment Rs 2. 000
AT Sebicod FI0LF b atod JB0 nﬁm;m bOAL
faste 2010 201 1
(S8 (da)
[} % M 'l—
Bde doo, 30.000 s, 000
oMoty 60 000 72.000
> 24 000 18 OO0
ucml' B 08w
30 OO ¥ OO0
L2 L) ol
&S00 IH,‘Ui RS
ed Bl RANTRD 6 000 3 XX
u B
de 12.000, RS . B 04 8OO0 AC utp# ~oaaidodt
sve % )
. } ) } o S0 BONT
ce 4.000 P e Aree) IdD eyl e 2,000 ﬂm‘w
OO ol

301 1@ fead ey s B0
P.T.0

F 1 -
2 A it i Ay e o U e W
e et Kl B Rl W [ B & =
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23521/E 210 il 2013
\ = i) 2012
| (2 % 18 « 5 S (d) (dR)
Answer any two of the following - 3 " | 38,000 85,000
$YAS alRmece 0w, ovddD | 5000 3,500 5,000 W 3 G4 00 3.03,000
& = j " =l §
St k. ! . ;.'.i.dd e ol 1.99,
o s on Jlst March, 1 ' -
7. Following are the balance sheets of Surya Ltd. as 2 angg et 4 500 POE
2013. Prepare common size Balance Sheets. 23 000 44 500
Liabilities 2012 2013 Assets 2:' ke 2013 IO 40 wyrie . i
5. - el
(Rs.) (Rs.) (Rs.) (Rs,) __ o o 5 87,000 :U"”O’U
Share capital 2.00.000  3.00,000 Cash in hand 59,000 5,00¢ - 5,87.000 R | 010 and
4.5 3 o 11st March, 201U @&
Reserves of surplus  1,56,000  1,77,000 Debtors 1,04,500 95,000 ‘he Balance Sheets Akshata Ltd as oD
_ llowing are
Debentures 25.000 50,000 Bills receivables 14,500 9,00 ZEI 1 2010 2011
* 5 . 1 Asscls
Secured loan 75.000 1.12.500 Stock 80,000 65,000 il lities 2010 2:.:1] (RS | (Rs.|
4 ' (Rs. ;
Creditors 1,27.500 58,500 Prepaid expenses 1,500 1,500 = 00,000 Cash at bank 50.000 36,000
) 1 000 8,00, .
Bills pavable 3,500 5,000 Land and building  1,35,000 85,000  Share capital 5,08 3,20,000 4.00.000
' | e 80,000 1.40.000 Sundry debtors
; = : , i 60,000
Plant and machinery 1,55,000 3,93,000 neral Reserves 000 96.000 Bills receivables 40,000 |
Furniture 4,500 9,000 ofit and Loss a/¢ 60, s B | 54 000 2.18,000
5 : 3,00,000 agh 000
Other fixed assets 33,000 44,500 0% b= 1,00,000 Machinery 1.60.000 4.00.
_ i - 00 00, : : W
5 - s ———— d dividend 84,0 000 3.40.000
5,87,000  7,03,000 5.87.000  7,03,000 (W °P°%" 30.000 1,00,000 Building .00 00
o : brovision for tax ' 2 2 30.000 1.BU.
8 31.3.2012 marie 20133 Saﬁi ﬂ.@ﬁiﬁm#%;ﬁoa' JRADF Foad B30 eEs T3 8ried Bills payable 40,000 32,000 Co
3YNT03Z. ayridod 3 ” - 6,000 . s
e TR, eddols s S§Brivanh S033F20. sundry creditors 1,10,000 L9 — 13.54.000 16.34.000
TR Briv) 2012 2013 BrTeL 2012 2013 13,54,000 16.34,000 S ————
da. dn. ) . ———— f al posituon
(82) (28 (0.) o7} . e sheet and comment on financial pX
e comparative Balanc nan0E e ol
Bed) wordma 2.00,000  3,00,000 3abdd Irgy 2 o e Sarriont gadnted)Sod pdoT g
- ¢ s 59,000 5,000 5 31.03.2010 ®erie 2011
Yo oo 8uY  1,56,000
20, LT, : .
is 000 meomdds 1,04.500 95,000 ;j.gﬁrida D la ot I . . 2011
Fo0T3 = b
3 e 25,000 50,000 wUIE Bodrigy . 2010 298 ) da (42)
¢ 14,500 5,000 RO 40 (o)
RO R 75,000  1,12,500 08> Bey | (et il " 0. 000 36,000
s 80,000 65,000 000 8,00,000 tR08WAT, NI o
PETIIL 1,27.500 : ger) woBdTV 6,00, '
27, 58,500 S00r1doN 33340 Detrert sog moeody  3.20.000 aoane
% 1500 1,500 it B 80,000 1,40,000
RADDION, ?
6 P.T.O.
i 7
i
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&390 DIt 2010 2011 ey 2010 2011
(0.) (6.) (9 (d%.)

ooyl dorin A 60,000 96,000 wO3Y, ool 40,000 60,000

6% e J3,ie) 3,00,000 2.00,000 RO BN, 1,54,000 2,18,000

Dolacsis epgood 84,000 1,00,000 odood,re 1,60,000 -Jr.UU,UDO-':'_.

$01MmN ORO3) 80,000  1,00,000 B&E 400,000 390,000

80035, Bo0BHY) 40,000 32,000 TR 2,30,000 | 80,000

DI FBTIO 1,10,000 1,66,000 g
13.54,000  16,34,000 1354000 1634000 8

== 3

DOTIIT e 333YR), 3019020, Fozdod BT :éaab wrf az03F S0B0.

Following are the Balance sheets Suresh Ltd. as on 31.3.2012 and 31.3.2013.

9.

Particulars 31.3.2012 31.3.2013

(Rs.) (Rs.)
Cash 40,000 50,000
Debtors 10,000 20,000
Stock in trade 60,000 80,000
Investments 50,000 1,20,000
Machinery 2,00,000 2,00,000
Profit and loss A/c¢ (Dr) ___4_9:9_{30_ -
4,00,000 4,?’0,0_0_ _
Sundry creditors T1.00.000  1,50,000
Debentures 2,00,000 1,00,000
Equity share capital 1,00,000 2,00,000
Profit and loss A/c (Cr) — 20,000_
200000 470,000

E—

provision for depreciation on 31.3.2012 was Rs. 50,000 and 31.3:2(.}13§
was Rs. 65,000. During 2013 machine costing Rs. 30,000 (Depreciation

Rs. 10.000) was sold for Rs. 16,000.
and application of funds.

Prepare a statement of Source
8

CE—— T

£ 4
1

/2

M
23521
Bweos 31.3.2012 @orte 2013ded i /E 210
§UNT03as : Pob3 e3d v B3sries

J3d 31.3.2012  31.3.2013

(de.) (0%.)
S 40,000 50,000
Toerneody 10,000 20,000
308> Bey, 60,000 80,000
BBEMND 50,000 1,20,000
ado3 rieb 2,00,000 2,00,000
©ozd So3) T e (DdF) 40,000 -
4,00,000 4,70,000
ot L. leled) 1,00,000 1,50,000
OO, MY 2,00,000 1,00,000
TBRTY, Bedh wodTew 1,00,000 2,00,000
oyd X B wod (=3R) = 20,000
4,00,000 4,70,000

I8¢ oFba) 8. 31.3.2012 dob de. 50,000 sorie B 31.3.2013 dord de. 65,000
20038, 20138¢ IArdd de. 30,000 PBSabd (3589 dwe. 10,000) abo3=a)
=

opR. 16,000% =S»denhd.
0BMY Suee dre evsalecn ﬁq’oiﬁi 3aindib.

Following are the balance sheets of Arun Ltd. as on 31.3.2010 and 31.3.2011

Liabilities 2010 2011 Assets 2010 2011
: (Rs.) (Rs.) (Rs.) " (Rs.)
Share capital 2,80,000 2,96,000 Cash at bank 36,000 -31,200
ofit and loss A/c 40,000 42,000 Sundry debtors 59,600 70,800
10% Debentures 48,000 24,000 Inventories 1,96,800 1,70,800
9
wtes g P T P
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2010 2011 P (Rs.) (Rs.] SECTION - D/2wnri - g
Liabihities o (Rs.) 0.000 1.20.000 Case study (Compulsory)
. 20. el ' 1 -
Land . ~ ) (1 x 15 = 15)
Sundry creditors 41,600 S i 40,000 20.000 5800 ug,abd (dueab) :
' o
Provision for 3,200 - 7Y Following is the balance sheet of Sun Ltid
doubtful debts ) _{-ED_U_ I 5 4.12.400 4.12.800 )
412,400 4,12.800 e Sun Ltd. Balance Sheet as on 31.3.2014
el Liabilities s
Additional information - Rs. 14 000 Assets Rs.
{ paid during the year 2011 was Rs ' Equity sh ;
(a) Dividend pai : ty share capital 1,60,000 Cash in hand 3.200
(hy Land Pu;-_hnwci for Rs. 40,000 5 »
9
( ut_:-[i“‘ll'l written off Rs. EO'ODU y PI'C'fErEnCe shares 1'601000 CESh at ba.nk 16 000
ic) ’ 24 000 were rtdﬂ"nfd dunng 2011 '
-hentures of Rs. ’ . 7% D |
= t under tracitional method. A 64,000 Bills receivables 48,000
Prepare cash flow statemen | & 31.3.2011 ©ow _ _
oo Ao 4 e3d T%r.c 0 %ﬁﬂ#) & 31.3.2010 Z2re 8% Public deposit 32,000 Investments 32.000
#¢hajodd e 5010 ) Bank over draft 64,000 Debtors 5. e
e 2010 2011 o () (ga) bt
R0 : b .
o (64.) (9R.) i Creditors 96,000 Stock 64.000
= ) & UUU s :
v ) 80.000  2.96,000 w,ods0a I 30 Outstandin ;
s N nog SeerRO0) 59,600 .500 g cxpenses 11,200 Furniture 48,000
; >4 40,000 42,000 == s -
ey 303 d&, U s | 96.800 0.%00 Proposed dividend 16,000 Machinery 1.60.000
48,000 24,000 SRRIND o
10%, e SIv> ' o . 000
i — Tt 80,000 0, Reserves 2,40,000 Land and building 3,52,000
ANG @ Te0t) 41,60 : 40.000 20.000 Provision f
Zome) - ovision for tax 32,000 Goodwill 5
- ) 2,800 3,200 - — ’ 56,000
Zosainyy worv 39 il 3 12.400 3.12.800
12400 #,12800 g a3 Profit and loss A/c 32,000 Preliminary expenses 16,000
Zug SRkl 9,07,200 9,07,200
4,000
Sr GO 380 weyod 8R. 14, _ _
(@ 20118 33F3 Profit carried forward from the last year was Rs. 24,000. You are required to
(b) @R OeRVT) TR 40.000 calculate ratios testing :
d.n. 20,000
() 2omsd oo Fd) OR. U, (4] Liquidity and
k7 SHdoTeS33ennd.
d) de 24,000 ddod PoTYrivsy, 201109,
— tetsedy Z0I00ND (b1 Solvency of the concern and comment on the same
_ o2 DeaiE TT30O SNt BOF) ST 3 :
o -
- 11 PT.D,
- . - bl - o ——— — e - — —
- - M
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o dobaud B, 31.3.2014 dow arod wges B8

mawipﬂﬁu

mquj dec) wodSaY

o ¥7)

1,60,000

670 e Bx Bedy wordmey  1,60,000

%0 Seo I3 Yy
8% So3Fr e delded
W 08T Foo
FoBITIVTL

Wod :.Sz.sme.b
Vodeeedd epyeos
oPrie

301 #LF)

Uy B3 TR, Wed

SoDN JIAFT mzdﬁai.l momddhui% ow. 24.000.
s sﬁhaid)rwai% BOEFROS ITOTI N FOWBO SHBO0DLO :

(a) c:_f,a:sﬂ

(b) 7w 3BT aleend, AI) HIBFOLRY, AeADd.

L]

64,000
32,000
64,000
96,000
11,200

16,000

2,40,000

32,000

32,000

9,07,200

es%ri%0 0.
ﬂdcxhdﬂmq_ﬁiﬁd) 3,200
quoaaqcimmm 16,000
wO3, BOOBNYD 48,000
BRBEMY 32,000
prlJdlanieled 1,12,000
0B Q(‘.D& 64,000
SedRe3TT YD 48,000
adoos)rie 1,60,000

BR I3 B 3,52, 000
BOTORO 56,000
[, PB DoFNd 16,000

9,07,200

12
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Time . 3 Hours]

[Max. Marks : 80
[nstructions/Xeesafre) :

1) Answer all the questions with strict o

bsematiﬂn 9 iﬂ.ﬂE? -( e .n

&0308 val) ¥TaD e DGIRTIY) ev3 030
2) Question No.11 under Section —D is Compulsory.
DRNN-'FOG I 11 W 7@ AT oV O72IcE).

3) Use of Calculators is allowed.
nessaio3 o vTolecrs o3 B

SECTION - A/ 25om — &

I.  Answer any ten of the following : (10 x 2 = 20)
5YNARIH)NYO alnF)mecce B3¢, &v3d2D !

(a) Who 1s a person?
;3!5_6_ Yelnlo e bnle S

(b) Distinguish between previous year and assessment year.
30003 IRF So3) FUE0H IAFT SARIAT UPFT dﬁ:saﬁﬁdaii 3V20.

(c) Which is a resident company?
Dol BoITA a3RFH)TO?

(d) What do you mean by tax fee incomes?
151 Cldsor B0l SH0FTERL?

| P.T.O.
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ily allowanc

> the da

() How do you treat,

u/s 10 (17)? . ﬁdoi:&;d-)d ALAES g0 10 (17)0 Iz o

D0.&. BANS 2D0.F .- -

ZBrcdzodD7 |

nes which qual

N four items of investments or saving ify fo,
{f] ame any (8] 5

deduction u/s 80 C. . agRRdieD N a

s gz euzoRNIYEY geo 80 & 9

00
m@mdm Eﬁ?ltiid) 2£7020. )
me tax authont:es,
Give the names of any four!l 1nco B
N O;Z)W{jdm a'am mood) cioln! H@ﬂﬁr‘ldm S04
|
(h) What ig a statutory prov ndent fund:

Don ﬁjma‘:}w:}mﬁ B SordeR)?

frec m‘.ccmunﬂdation?

(1) What is a rent
e Sogdeso?
[}

o8 Jhdmal &9

rent of prupt‘ft}’?

() What 1s standard
gdend?

es2,030 @;&meﬁe%ﬁ welrl 20

What are the deductions allowable u/s 24

house property? ,
Sodad @b TIAp(eS [ ) Bo@Y LBadvTen FOO

IREIDT7

(k)

() Whatare the pvrquisilcs?
ﬁzﬁe}:ij;rwncddfm?

QECTION - B/ Qdwerni — @

Answer any three of the following : (3 x 5 = 15)
genInon Yeved Mdi eu3DAD

tan on 1.4.2010 and

2 Mr. Santhosh who | left India for the first time to Pakis
came back to India on 1.12. 2012. Again on 1.7.201 3 he left for Germany and
ame back to India on 1.2.2014.

C nmpnl: his Residential status for the assessment year 2014-15.
Bood 1 1.2010 dord Ae sokpcdsd SARO 27201t 272033, Ded) mam_,ﬁiﬂ a&ﬂthd:bl}ﬂ
Sod) Dpeos | 12,2012 dory So0¢ 03Y, 2o, 03 Basod 1.7.2013 dod)
rsoF Ot Bseeh Boood 1.2.2014 gor 038, uoﬁmﬁ
TISIMENTI A IR IR RINS) o280 Sar 2014-1 lﬂfﬂ anlatellle]

2

” rECﬂi"ed by MLA's and MP'R__J .

in computing income from j

40 @50 0IPS SBINYR) |
o

23522 /E 220

3; Mr. Gopi an employee of M/s X Ltd. retired

in March 2014
35 years 9 months. He received Rs. 1,00,000 as gratmtylfmaritijegﬁgaﬁr
under payment of gratuity Act 1972. His monthly salary on th Fcli .
immediately preceding the date of retirement was Rs. 4,160. ©

Find out the exempted and taxable gratuity.

2. X 5030 DobST evidRch Be Rocdodn 35 IR 9 3orte AcSabsd, 3N Iweste
20140 L3 : 0. 1

& A3 3adnhmed. "SI0t Ut Ml seoly 197273 egod da. 1,00,000
POSEE BB, 8 I3 BIT LodT 3orie Fred dre. 4,160 SPCIZE
03 w0 o3 301 LYTEIT MPOIFTI), Fo@d LROWD. )

The gross total income of MF' Chopra was Rs. 4,45,000 for the previous year
2013-14 and he made donations to the following funds and institutions :

(a)  National children’s fund 1,013};00
(b) The Jawaharlal Nehru memorial fund 1,00,000
() A political fund 50,000 s
(d)  The approved charitable trust 40,000
(e} A municipal corporation (not for family planning) 30,000

Mr. Chopra incurer expenditure of Rs. 15,000 and medical treatment of
a dependent, who is a person with disability.

Compute the amount of deduction allowable to him u/s 80 G.

8c Bocmsd umood I 2013-140 wid) emad oL, 4,45,000 &) S3) OID
g SUNT APrieh 303 FoBnYr derdriadb), VeBTOT a.

oue.
(a)  Oodrod 0TV OB 1,00,000
(h) wEeBCRO JB0R 30T Y 1.00,000
(c) Cowdeod Y 50,000
() ob3ecd3 H85 03 Bo% 40,000
() ard sy (sotow odeendnt vo) 30,000

Be wpcmd 37 w30od3 dseoseds  Jdab  FGdead VBTN
. 15,00009a) DF S0BEF.

g©0 80 GG ©dohd 83dr A va3 Mgda&id&ﬁﬁ.

3 P.T.O.

e ————— ————— R T T
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S.

N R e

From the following information comput

the Act.

(a) Subscription to N.S certificates (viil issue)

(b) Contribution to public provident fund

(c) Life insurance premium on his own life

(sum assured Rs. 80,000)

cognised provident fund

(d) Contribution to unre

(e) Contribution to statutory provident fund

() Accrued interest on N.S certificates (viil issue)

(g) Life insurance premium on mothers life

(h) investments in infrastructure bonds

o0 80 O B0LE BT80N SBINY, I8 5080 :

(a) Oodsad oudzeod FIYE, So31t (viii)

(b) oRFuds WO QN Qedd

(c) ﬂaod Be30 Soed) e D35 o3 (mm 308 OR. 80,000)

(d) 31335{53 O3 z;i:;z% 20n RO

(e) BORTWE W 0p ddont

() ooagad euQzo0d) B3,1¥ 250 0ud WA (viii)
(g) 300D eS0T 25edR oS D3P ToB
(h) SO il fo wpodony Soed 2009

e the deduction allowabl

T

e u/s 80 C if

Rs.
10,000

20,000

20,000
12,000
8,000
10,000
10,000

20,000

10,000

20,000

20,000

6. Mr. Ajay, working in a private company

- A .

(é

23522/E 220

retired on 1.2.2013 after completing

W 0RO

8] T
30 years and 6 months of service

Encashment of leave salary received Rs 1,00,000
(a)  Average salary for last 10 months Rs. 4.500
(b)  Heh I ’ 1
€ has availed 615 days leave (30 days leave permitted per year)
Calculate the taxable encashment of leave salary

wol a395N Foadnabhd Jed 393 adoao Roe?
- de A@MA.}S;C;; %&' ezoad 30 J3F 6 dord et 220 ~
05 1.2.2013 doo cﬁdﬁ esATRA. T

Oz5o BDIT Se3® Srdesdm B 8. 1,00,000.
(a) BoSd BI) ori¥ 09IV Be3F A, 4,500

b =
(b) ez37 615 Darnd od TdDLIF (;ﬁﬁ?ﬁ, 30 D rd oOX Zdoben ezHzoad
QOO I).

30riiedzrys 0% DIT 363N JIridesdn 320,

SECTION - C/2perni- &

Answer any two of the following : (2 x 15 = 30)

ewad SUBE, 23020 :

7 Compute the gross total Income for 2014-15 A.Y. of Mr. P from the following

particulars, if he is :

" ‘..F.."..-
(a) Resident
(b) Not Ordinarily Resident

(c) Non Resident

12,000

8,000
10,000
10,000

20,000

(1)
(11)

(iii)

(iv)

(v)

Profit from business in Dharwad Rs. 60,000.
Rent from house property in Bangladesh but received in India

Rs. 1,00,000.

Income from agriculture in US
spent Rs. 5,000 for children's education studying in USA

Profit from business established 1n Australia but controlled from

India Rs. 60,000 of which Rs. 40,000 remitted to India.
ed to India in the previous year

A Rs. 20,000 received there and

past untaxed foreign income remitt

Rs. 80,000.

P.T.O.
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Salary received in India for the

(Vi)

Rs. 60,000.
(vii) Interest on investment in New York Rs. 40,000 earned and receiveq tollowing information com Pvernment department in Bel

there. Pute her income from sal SBtim. From the
(viii) Interest on post office saving bank a/c Rs, 2.000. (a)  Basic salary Rs. 25,000 ary for the Ay 2014-15
(ix) Profit from business in Irag (but not controlled from India) (b)  D.A@ 60° o

Rs. 40,000. | % of basic salary (considered for ret;
(x) Agricultural income earned in Japan Rs. 50,000. () Entertainment allow Tt i)
(xi) Income on UTI Rs. 30,000. ige.Rs. 1,000 p.m.

(d) H.R.ARs. 4,500 p.m.
L—

(xii) Rent from house property let out in USA for Rs. 80,000 half of

which credited to his account in Banglore.

8e & 931t Fowo2@ 2014-15 200808 IR0 81 YNT IITNYoT B3O

(€)  Fixed medical allowance Rs. 500 p
. .m,

() i '
Rent paid by Smt. Kavita Rs. 8,000 p.m. for he d
.Im, I residence.

(a) Q=d0dozrs
(8] She received the conveyance

(b) mem0Rd, A=92000RET
(c) ©0=9203003000 B¥IT h%ﬂmﬁb&fﬂi dﬁﬁ =70kd.

aﬂﬂwanc :
she spent only Rs. 5,500, ¢ during the year Rs, 8,500 and

accumulated balance of
the fund i :
Rs. 10,000, 1s credited at 10% pP-a amounts to

(1) Um0 BBAOTOS ;%mdauci word eyl dwe. 60,000.

(i) woorm BeBBATHS JoIod WL 0ol 8ol PoUsBE AT |
3. 1,00,000. 5

ad.07.2.89 m&wdﬁd esgaody Own. 20,000 ?ﬁfﬁﬁkdm =030 USAdq
(1) The Go ;

vernment provides the service of a sweeper at her resid
laence

paying Rs. 200 pm.

(iii)
Hz%fafn)éd.}ij d}ﬁ‘ﬁ?rﬁlﬁ ds. 5,000 d%madmjd.
Hﬁé@@.’iﬁd@m mma:?aci =030 27003000 003 ZOBID aiﬁ;jmdaoﬁ

(iv)

3. 60,000 oG, B, 40,0008, 7p08F, TTIZIONI. () Her son is studying in a residential sch

en school (h
(v) 301 eods Snpdwlnc 2 0B8 S8 womood . 80,0008, BING Bweal government. The annual expenses incurred o (hostel) run by the
ove i

SRFGE 72038, TPV, per student. government is Rs. 3,500
Vi) mofoddd 2o 30163, WeUIBE, SeIT AeF0IR) OR. 60,000. W H | |
( ] f ). DABT, s otoe : ( } er another sS0n 1s gettmg free education in a school run b}" th
(vii) BpBEMY 30cOF WA, BTOLIT), BRAINTFTS, nese, BCoLe »g,ﬁ&»cig, government is Rs. 3,500 per student. : ;

dwe. 40,000. ' (1) Life insurance ' |

, premium of Rs. 8,000 : :
(vii) @028 BeJeD eVPIDAR 23,08 APFON0T NPT 2B, TL. 2,000. S — on her policy was paid by the
(ix) R0FITOS %ﬁmdaod wod eyl . 40,000 ( 27203003 dodbodreiv). (m) She paid ——
protessional t f Rs. .
(x) z@edBod N¥aE 8a 8meod dw. 50,000. ax of Rs. 1,800 for the year.
n Sh :
(xi)  od.t3.e803%. Bor w0a eswaod 8. 30,000, (n) She has been provided 12 HP, car for both personal and office purpose
i with a driver, all i

(xii) o, 05%.0.30003 Rodad wedd de. 80,000 FUBR) B0Y, YBFOIF, & ver, all expensce paid by the government.

Sond 08I0 37 23R 3R SHPEALI.
7 P.T.O.
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§eS03 52 e 3050 e
014-150 Je38 Soeend 8P

odbo® suidR;en 363 R0 YN = +

ap.
w=d 800808 SAF 2 oI, I8, 3P

(@) S I3 0L 25,000 3,3 doriort

(b) 3ok, Sopw Je3IT 607 daky, (P43 cewndn 33 3)

() SoSorTe 3, de. 1,000 3,3 3oriert
d) Sosab wedn 3 da. 4,500 33 3ontwrt

€ ords 3o scadb B3 de. 500 B3 sonont

) Becod soweh 35, TR St dedd i 08 8,000 3,8 Joriert

(g) o ITe% W desnd de. 8,500 IRFE, 1es0RBY, uE0® e da. 5,500

DLOF m&ul:g!.

(h) eodn serswg, BT AN ST 17%0, Dedo3may Fo33 BEoL SUER, T3

363 ode dedaSy dedmE. 20T
de. 10,0008, &3® SRENG.

Joeerds w03 B, 33T, :;i

() =00 eIVt odod SRABIS 008 AeSabrty wonnay, 3orien

&e&c%aﬁ.

() Rowd SBwod> Becrd I3 Zoctobd e3¢ o LEX3wS.
o, BF 1t o T A, 3,500 DUOF SREIT. "'

(k) edob iy, Sort 3080 SdICUE BToN0D ouss By, SBold

ad L) pr-] 3

DBOF T3 am%arﬂ ge. 3,500 acu3a.

1) ovdaerioeddos masiend wav e a3 Sok da. 8,000
(m) egain 33 $ort WIS 343 S, 1,800 IAFT,.
ot eeds Sedoleodrt 12 HP, 890 Aedab dedd. 360 &
| og Sy[ivs; Aomode FORIA. vor w0 B3 303 Forie 98¢0 @

 evDoleeNsoLs |

E— g T = -
- T — - 2 e
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particulars for the P.Y. 2013-14. ~or

10. Mr. Kumar furnishes the following ; 3
the allowable deductions u/s 80 from GTI for A.Y. 2014-15 his gross
income was Rs. 10 lakhs. 3

Rs. 1,50,00C

(a) Life insurance premium paid Rs. 40,000 on the policy of

Contributed Rs. 40,000 to public provident fund.

(b)

(c) Investment in NSC VIII issue Rs. 30,000.

(d) Paid for LIC pension plan Rs. 40,000.

() He spent Rs. 65,000 on medical treatment of his widow sister who

severely disabled and dependent on him.

() He had borrowed Rs. 2,00,000 for his son's higher education 2 yeé

back and interest on it paid during the P.Y. Rs. 20,000.

th of his family with a father

(g) He took the insurance policy on the heal
f Rs. 30,000 by cheque.

75 years old and paid on insurance premium O

(h) (i) Donations to approved temple Rs. 30,000 LT S

(i) Donations to university (Notified) Rs. 20,000

(iiij Donations to municipality for family planning P om

Rs. 20,000
14¥, Zoword 23U, LENTRE. B0 Lo

Be B0SN0I0) YmOL JaF 2013~
o5 a0us daInva 7, SR80

2014-158, h%emoi)&od g0 80 edabd,

[T %umoda de. 10 oF ClacSl

G, 1.50,000 a3 medab oee) 2iesd HIR o To381E), R 40,000

g (a)
X
# . er (b) TSJFEAT ZJ&'% ot R}Gﬁd.)ndﬁ. 40,000

) ooagab evwsaad B3ridd eds (VI de. 30,000
B ses o0 AT dorsed aleerR TSI, 8. 40,000.
L () 3mn Do dedSninndss oSy 3xd 9300030

L g dcah evisdmd e dA. 65,0001, DDF SRR

2 H LK .I. '-‘ & :. 10
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808 eRI3adn wy) SVERCNOIPNG), BTR0D I&F 2013-143, 0WORAT

STV, B FWNT0S ASM AeBWRY :
(a) Sowee Ie3s dw. 20,000 I3 dortdrt

(b) 3ok}, Se. 1,000 B3 donvnt R 50% OR), A3 eerinvdrt Fedo3d
(c) ®nv Bo®C 33, Be. 250 I3 dorwn

d) o8 wedM 33, Bw. 2,500 B3 donvn

(e) BB (1% B[ INBIS Sbobd Boeet) Bw. 4,000

S0eOT IdANYorn w3Y IR wWISEIS odob WA zd:%abdgt 8 FIYNS
0TPENYd. cJa; Hod0 :

0WIene :
() &I 3038 oo TeaRoTen
(i) D% DB weln Sowodsy, dortwrn de. 2,500 NYRy weRrM I

J9ABSTOTN |
(i) o3 sosRd wart Jsabsy sondt de. 5,000 YR, AR :
FIARSTOIN. J

12

Scanned by TapScanner



26

i S el
Reg. No.| | |
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V Semester B.Com.?2 Degree Examination,
October/November 2014
Paper - I : ELEMENTS OF COSTING - I
Time : 3 Hours] [Max. Marks : 80
Instructions/Zeesned ;
1) Attempt questions according to internal choice in each Section.
Fdaleotd Jggana eo3bF Q) TOTe0 NI ev3 0.
2) Question No. 11 is Compulsory.
54 11 v@aal.
SECTION - A/ dyen - &
1. Answer any ten of the following : (10 x 2 = 20)

Weval B3 T3t eudd0

(a) Define Cost Accounting.
238 JTZK 39, 9D,

(b) State any two functions of cost accounting.
S8 95505 B WeTor 0B Fa0F YR, 3WAD.

(c) What is indirect cost? Give one example.
VI3 g 33, DOTTBERTO? 20T YLTIBOF TR

(d) Name the different elements of cost.
33 JW DG pe3vrieh (Saeoadonied) adea)s) HHOX0.

(e) What is incentive wage plan?
3,303 500 odacn 20BVERO?

() What is cost sheet?
;staﬁé.;j 0BBe07

Write the formula to calculate the earnings under Rowan plan.

(8)
BRe3030 adeewRod rdd 8, IPRIT 263 WIaD.

1 P.T.O.
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(h) ‘What do you mean by machine
adros, rotd B3O Qoudedd?

hour rate?

(i) What 18 overhead cost?
Soeen ;Stjuaoddfaid?

j) What is maximum stock level?
ﬁb%m@m ;iauuacddcm?

(k) Mention two differences between FIFO and LIFO.
FIFO 03 LIFOn¥dad DO 553351'11#30*3@3:&

() State any two merits of Halsey plan.
e} alpemdod ades)TeETRe le]e V) EWQH@E&&S@!@.

SECTION - B/ &en - o

Answer any three of the following :
FUAS Weme mﬁo‘q,‘ U300 :
iz What is Bin Card? Write distinctions between Bin card and stores ledger.
OR® 5 F 203007 D T F B :'uades‘r d{!mdﬁ ;dﬁa%ﬁmfﬁgt wdoD. )
3
f a certain material for a year. Cost of Carryiﬁ%
1 per annum and it is
g would amount

3. A factory requires 2,000 units o
one unit of this material is calculated to be Re.

estimated that the exXpenses of placing an order and receivin
to Rs.10. Calculate E. O. Q. )
WOt ﬁaﬂq’pﬁ 2,08 SHFT, 2,000 mauud:%aﬁar%ﬁmamw Sezan3S. o =ianinaal

SoaFs 3t 2,080 adueded[! dw. 1 3o =3 mErg B80T B ?&eﬁﬁm aﬂt.iucua. 10
PA
Sor) MomrsenRnd. UBFT stdcd 3T dﬁé o380,

4. Compute the earnings of X and Y under Taylor's differential piece rate'system
from the following :

Normal rate per hour — Rs. 6
Standard time per unit — 135 seconds
Differentials to be applied : 80% of piece rate below standard

. 120% of piece rate at or above standard

Workers production per day of 8 hours is : X - 1400 units
- Y — 2000 units

(3x5=18)

-— A .

0 Py

X &M Y 230 Zomddabis o 23523/E 230
SG30d 38, Inab. 2 & VNS Inb3ctior eood= 33740 od> go

ﬁdﬁqi ol E:"‘Ja roksr - OR. 6

53 QLRIT SI0es3 S - 15 ~gororie

S0 UHE I3 3 gg -
5%~ B0 : nu)dJaE'arﬁdOS BR30IRTY Bod> BT 8O

S IRHITR)
N ) UFT dmﬂdg 3o0@) §od 120%
AWUS\PORMOT suedd ¢ X 1,400 QeRMY

Y 2,000 Oim&u)‘ﬁgb

Prepare a -
machine hour
hour rate to cover the overhead expenses indicated below -

Per hour
e Per ;I;num
Electric power  8.50 Repairs 5 300
S ¥
v:eam 1.00 Rent 2,700
ater 0.50 Depreciation 12,000

Running hours hours. 2,000
gYNAS HIonYor adro3, riokd dddﬂi Je, S8 |

3,38 riotdrt 33 33T,
odx. oR.
AR I 8 850 BTy 5,300
euf 1.00 FARYe Yy 2,700
cedy 0.50 Aa5Y 12,000

abo3 @ X 2,000 rioss

Compute minimum stock level, maximum '
) stock | ¥
from the following : evel and re-order stock level

Monthly consumption : 1,000 kgs to 2,000 kgs
Re-order quantity : 2,500 kgs
Lead Time : 1 week to 3 week

F9AT Sndkdonoen 3AK, NoE So3) Soob ugdes MRS SorVR), S5aesed Sl :
doren w¥8 1 1,000 $See. Mo Do 2,000 3cdnc reo

3000 udesr SOIRm : 2,500 e M0

g gad 839 : 1 So0Bod 3 TUN

3 P.T.O.
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SECTION~ij;aﬁ-ﬁ o
: {2 x = ol
Answer any two of the following :

: 400 8¢ oo
& 3¢NS Weoed SOdE, K00 Mo (MR ®o. 37)

SRTIMRCAN &obdaﬁhd% S0 3% Mo (GR.

. 1 wph i No. 170 28ed
- i al “P” in a factory in January, )
7. The particulars of Receipts and issues of mater , 25 2DBed —
2010 are as under : ) " s s 0384, 11 I3 8eont (GR ®o. 35)
Jan. 1  Opening balance 1,500 kgs @ Rs. 12 per Xg. 0. 350 20¢B Sees Rerordd <% da. 300
R No. 15
2 Issued 650 kgs on M ‘ 30 Dddond
5  Purchased 400 kgs @ Rs. 12.60 per kg Vide G.R. No. 9 200 $¢3% myo0 (MR o, 42)
0k MR No. 21 FIFO 3d8ob 8 i
9 Issued 300 kgs on A G s B 3 00 ZoU alaer, IZ0080IO 308> 2daias wdonss,
10 Purchased 200 kgs @ Rs. 12.50 per Kg Vi - <
11 Issued 300 kgs on MR No. 27 The_ following information has been obtained from the record of Mathoshri
12 Returned to stores 20 kgs issued on MR. No. 15 Limited for a period from June 1, 2006 to June 30, 2006,
13 Issued 450 kgs on MR No. 32 Rs
16 Purchased 500 kgs @ Rs. 13 per kg Vide G.R. No. 17 Cost of raw material in stock as on 01.06.2006 30,000
16 Stores Audit note No. 5 shows shortage of 10 kgs Raw material , ’
purchased during th
18 Issued 400 kgs on MR No. 37 ——— ng the month 4,50,000
5 ai
20 Returned to vendors 50 kgs from GR. No. 1/ P 2,00,000
25 Purchased 300 kgs @ Rs. 11 per kg Vide G.R. No. 35 wages outstanding 30,000
25 Freight paid on purchase (Vide GR No. 35) Rs. 300 Factory overhead 92,000
30 Issued 200 kgs on MR No. 42 Work-in-progress as on 01,06.2006 12,000
Write stores ledger account under FIFO pricing method. Raw materials in stock as on 30.06.2006 25,000
2330 20100 83R wody sodwpdodd B, SR PO A¥0r %) ddoridadn Work-in-progress as on 30.06.2006 15,000
g¥NTodd : Opening stock of finished goods 60,000
&30 1 eooyd By, 1,500 83 Moo dp. 12 3 8.2.1 Closing stock of finished goods 55,000
2 Ddord 650 8¢%» Mo MR ®o. 15 Selling and distribution overhead 20,000
5  20eh 400 30 Mo dn. 12.60 33 é.2.4 (G.R. Jo0. 9) Sales 9.00.000
9 drord 300 $3» Moo (MR ®o. 21) Administrative overhead 30,000
10 DBed 200 3830 Mo dw. 12.50 @3 $drent (G.R. So. 13) You are required to prepare a statement showing :
11 dzbord 300 3%% Mo (MR &o. 27) (a)  Prime cost £
12 MR. o 150 daond 3»8 30836 v md, £oBooaa) 20 86 M, (b) Works cost
(c)  Cost of production
13 Qvond 450 $&» Mo (MR ®o. 32) p
(d) Cost of G/S and
16 OB 500 330 o0 8. 13 I3 3Hn (GR So. 17) (e) Sales
4 S P.T.O.
e RBASEEN S | o ¢
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2as2a/k 2% & 1, 2006 dog zAT 30. 2006y
o dons Spblobiy SPecse GHERT BAT L
=30t sdobenhd ! i
00
L
159@ 30rg® VDDA TR, RIACIALALY 4,50,
. @ X 2,00,000
@ gkl
:ﬁo m&m 30,000 i
- 2
92,000
mﬁzip Soeen ;stu __
a'_,riéaheﬂmmd 3oz 01.06.2006 12,000
3150 SCIFENY FAT) 30.06.2006 25,000
3R30dHS $&3 30.06.2006 15,000
VI TIT 3088 80odT e, 60,000
euEOTE F03E B0II Be, 55,000
S0k Fone ABTH Boecen ;SLSH 20,000
=008 9,00,000
udm\%ﬁ Soeen ;Sz.su 30,000

& SR Sbionod FYATH)NYE), Ford HBOWD :
(a) =Fd 33523
(b) TeaF® ;.Sz.L

'

(c) evIdme S,
(d) =dzony SRoekid ;!z{,r
(e) Seoobs

9.  From the following particulars relating to Deepa Ltd. work out the earnings
a week under :

(a) Taylor's differential piece rates
(b) Halsey plan
(c) Rowan plan

Number of working hours per week — 48 hours

Normal wages per hour — Rs.4.50

Standard time per piece — 20 miﬁutes

Actual output for the week — 156 pieces \
Differential piece rates applied : 80% of piece rate for below standard

. f‘- ..
: 120% of piece rate for @ and above standartt ==

e 1 VT w GRS i

e M a “1

23523/E 230

T

: ® BT Eehy A35n

3938 BFIDY S@rtr3don, i a:}u R, PDFET 300 nosobs, 8 dunt
s .

la)  tleeds dﬁaams SN oy,
(b)  ®¢) ddeews

) GRS olnend
TRTBQ BT riossrie, 45
TRRUTI 800 313 33 rosst — g 4.50
FIReIY 33008 33 M8, — 20 davzne,
TROBRT VBT — 156 Frirey

35 9% NS Goney) -
Be.80 0%y SRt tusaahes 8 evsagin 33

The following information
3 rel
primary distribution smnmazyat;es 0 Basaveshwar products. Overhead as per

Production departments Service departments

A -Rs. 1,600 ¥-Psan

B - Rs. 2,700 Y Rs. 3’040

C - Rs. 3,800 o

Service departments costs are apportioned as below :

Production Departments Service Departments
. A B C X Y

E:;enr:}ce department X  20% 30% 40% - 10%
Service department Y 409 10% 30% 20% -

Prepare second
method.

=) ; 3
rbd:fh‘d AJ0rieh z.J:i;ScEﬂU I BN HowoRrt. NPT ool Ivad Doeewn :Sz.iud

ary distribution summary under simultaneous equation

DI dFririey Ao dgeriniey

ngon Soeen S $rieo n Soeen 33 I
A ow. 1,600 X ow. 2,340

B Ow. 2,700 Y dw. 3,000

e ow. 3,800

360 Mgarineh Boeew SUNYR) Begmn IYBDALO B FYNTod &sdZenrIIY -
uua?ﬂcim NFrindd  Jee dyerinedd

A B C X ¥
ACTD PN X 20% 30% 40% =" 10%

Aeo Y 40% 10% 30% 20% —
DT FoHF IATONH an:sns R0 e deniny Soeen ;SUJWEQ 00 ®dorid Snhb.

{4 P.T.O.
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SECTION — D/ peri = @

Case study question 18 Compulsory :

Je0e oG I, o' o

| the particulars given to you : f:
11. The following are p N

Standard time : 10 hours and e I‘ﬂée 5 hours, D — 4 ho ":
time taken : Worker A — 8 hours, B - 6 hours, ‘5_*‘
E — 3 hours. 4

You are required to :

(a) Prepare comparative stateme
bonus plans.

(b) Analyze the statements and give your conclusions.

(c) Suggest the bonus scheme suitable from the point of managernent
workers.

& FIAD m&ama\g 3ot woRzenNd :

IRoedeg3 Fe¢ 1 10 rotsrie By SFed 0 : A, 1.00 I3 oesrt oxreETL SrER
Jedd: A - 8 rotd, B — 6 noed, C — 5 rfoed, D — 4 ot &orie E — 3 nod. '

nt of earnings under Halsey and

VeD) !

@)  BSDIT Borte BReIOTO alwers TEO0 BeRmOS Redah Bocdd Tk

(b)  Te3abR) 0810 ®orie A3 8T, 0LRYR), 08D, _*'-f-'

(c) ©BEIPROFONY Zne FoImoo d.’%m)od oINS  WeessE oifacm
aowddgt 0B VeRD.
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Reg. No.

V Semester B.Com.2 Degree Examination,
October/November 2014

(Regular and Repeaters - RCU Syllabus)
ECONOMIC DEVELOPMENT OF INDIA

Time : 3 Hours]| [Max. Marks : 80
Instructions to Candidates :
aa%@rm’rfmwm:

1) All sub-questions should be answered at one place continuously.
Quote facts and figures to support your answer.
deR evd Gdnert wode @I V3o 20000. &35 900 es08 11008 V)
w_g’o’zf@’@i F0AE0.

2) Answer to all Sections should be written in the same answer
book.

DR DTN VFTI) 2,00¢ V30 T3FaDE, 2TAVO.

SECTION — A/ dyen — &

1. Answer any ten of the following questions in 2-3 sentences each : (10 x 2 = 20)

2963 Weman B3 BBV 2-3 ToT;NIO evddO:

(a) Give the meaning of a developing economy.
mquamgw Tlala ﬁdsﬁmai) e93E VeRD.

’ f Indian economy.
(b) Mention any two features o
270037 SPETIOD 03593) OGBS DTTO ©F NI, B YO

(c) Define percapita Income.
350 TR, IO

(d) What is GNP?
5. o0&, (GNP) e9g¢ 5,080.

() Give the meaning of sex-ratio.
Pon—ROTIE WPF HeX0.

() What is density of population?
%8 50003,3 0BT

1 P.T.O.
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(g) Give (he meanin
dobiroz) odecwdad) pgr Qe

g of family planning.

(h)  Whatis democralic planning?
BRADIE DE L odnend oosderd?

(i)  Give the meaning of Bank Rate.

29,06° God vgF Aed.

()  State the meaning of SLR.
S .oek 80 (SLR) ugF Hew'D.

(k) What is capital market?
wodmeY SR0IBLS, dotde?

(1) Give the meaning ol surplus budget.
oV¥EIOL Fond F3E BgF kb,

SECTION - B/ 2%nn -

Answer any three of the following : (B3x5= 15)

8UNS Yewad Faedd FBM LuIO2D

2. Explain the obstacles to economic development of India.,
Wod3d by WdIrdtad dIdrid@) HIOUD.

3. Describe the structure of Indian cconomy,
WoUdd esbhry ;jrjf:iiai} dz.faiabd.‘){ Jede 20,

$R030 002 r0d) FOUINFL Motz B0B)30F Enoddrvsy HIDLO
) .

5. Briefly note on “N
"D*a:!gab mﬁnmu}

ational population policy 2000
0ed 2000 82835 ez tig
) O k!uwed wdanh,

1 I

BREIZ Ved Dogd ap money policy
7 o — policy,
R0 33 o1t ®esoz) Je

3 DI628,

25

IR 23524/E 240
SECTION - C/2xr - 8
Answer any two of the following : (2 x 15 = 30)
59 Yewar 20> ZB[I0R eu3dnD

Describe the main characteristics of underdeveloped economy.
umﬂqlﬁ;‘_’ b qjafﬁmo.‘u @330 wgrarvs), 32D,

Examine the methods of estimating National Income in India.
(Aplek]als) Oody 0l SIOFRTC Borersd DPEU), FOCEAD.

Explain the causes and cffects of the rapid growth of population in India.
700300 33, witows, LIVS eirtod) BadnnY 303 BOrmSINVE), DIOND.

Critically examine monetary policy of India.
3030 Brwakd Dedoig), HZIBFAD.

SECTION - D/ wert - o
(1 % 16 = 185)

¢ years 2007-2012. [ts main
targeted a growth rate of ten
er of the 11th plan. Doubling

¢ manufacturing
r and

Case let ¢

The eleventh five year plan covers period of fiv
objective is speedy and inclusive growth, It has
percent per annum. Employment is another corn
the rate of growth in agriculture, invest in labour intensiv
units. The plan also emphasizes growth in the infrastructure scclo

| 1th plan secks to attain socio-economic transformation.
(Questions :

(a) What is the time frame of the 11th plan?

(b) Define inclusive growth.

(c) Explain the objectives of XI plan.

L¢3 .:Jdddmﬁ :
éai.qua!cm JoudTears aleczdodn 2007-120

evdeBSord 3¢ Farin wInnod WYSed, oo . -
maoi)mqf*hhs,mofsd, evdaert  JBRFE a0 alecndod [WRID  Z

eutd BTN, g UJIedt Qo3 f:.u:_mmmm_;m GoOF BOT), wYnod MFE
peIBrdd  wolmav BNHBEIFT). SO Pyolornd eI BN B3, QedoF)Bo B9

HanE-uhrs Soa3rdad b perA s onj A V)

o) JaFnY Hd&ﬂbd%ﬁd. rd 320,
33 JdrF 100 SeIrdnod) BOSIY, 38,

3B
(a) Ssﬁm‘odﬁah alnesdol saeRId adn)so?

(h) w¥rteod ST edriadom), mﬁmﬁm&
(c) XI odpewmiod mdﬂeﬁﬁdﬁ{ Faie}le)

i,
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Vv
Semester B.Com .2 Degree Examination
October/November 2014 |

{ Regular)

Pa - :
Per - IV : COMPUTER APPLICATIONS IN BUSINESS

Time : 3 Hnurs]

[Max. Marks : 80

Inst :
ructions : 1) Answer all sections, subject to internal choice
2) Section D, question no 11, is compulsory
SECTION - A
1. An ' '
swer any ten quest1ﬂfls, each carries 2 marks : (10 x 2 = 20)

(@) Define E-commerce.

(b)  What is bar coding?

(C)  List different types of network topologies.

(d) What do YOou mean by Extranet?

(e) Name any four internet business websites.

()  Expand HTTP and HTML.
(g) List the attributes of Table tag in HTML.
(h) What is event driven programming?

(i)  List any four commonly used controls in VB.NET.
(j)  Give the syntax of msgbox in VB.net

k) What is Cryptography?

l) Mention any two services offered by ATM.

P.T.O.
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SECTION — B

ch carries 3 marks :

Answer any three questions, ea

2. List any five uses of E-Commerce.

3. Explain the purpose of LAN.

Describe the attributes of BODY tag 1n HTM o

4 Y RN

‘ 1S VOWC! or naga :'
S Write a VB.NET program to find whether an alphabet e
6. Mention the advantages of credit card.

SECTION - C

Answer any two questions, each carries 15 marks :

7.  Explain the types of E-Commerce in detail.

8  Discuss in detail OSI reference model.

N

. o ,:]

9. Write an HTML code to create Home Page of RCUB, which sh e
image, background, table and marque text.

[}

2 A

; {' 1
e

10. Write short notes on :
(a) Electronic cash
(b) Data types in VB.net
(c) For loop in VB.net

SECTION - D
Case Study (Compulsory) TEED | :.;'_'_;_j

1. Chlrag India Ltd., Mumbai gives HRA as 20% of Basic Pay, PF as_
Ry, and DA on the basis of following conditions :

Rate' Of DA - y 2

o
Y

o
N

H
Ll &
W v

.i"‘ 1
I
-

85% |
70% R
60% e W '
_ 50% i
".;;_! orogram to read employee cbcle, n&i.}niil 2}
¥ print the salary slip.
~r b Sl U AW O S NTEN LR
B

Al o

¥ E;-“'.,'l,

e A -"i_|1
i T W, s
TN P
'

¥
;r“.".

11"

# i N B
any
.':' ‘
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Semester B.Com.2 Degree Examination,
October/Novembor 2014

(RCU - Regular and Repeaters)
Paper - I : INDIAN FINANCIAL MARKETS

Time - ° ‘
nme : 3 Hours]| [Max., Marks : 80

Instruction/zees :

Ansteer all the questions subject to choice.
&o3Cy oMo L Vbl) Dep I ovgOs0

SECTION - A/ a5 - &

) Answer any ten of the following questions : (10 x 2 = 20)
FYNTIH NV Wemad &3 z},ﬂﬂﬂ@ﬂ VI DD |

(&) State two components of financial system.
B LATIT qsdﬂmai) QOB Bo8nYR) VXD,

(b)  What is call money?
53 B DoBTeTOT?

(c) State two characteristics of mutual funds.
aa’dﬁﬂd ORNY HBBO ogmﬁdﬁi& 23000,

(d) Name two regulatory authorities of financial system.
BT F A 0LRY, V00RO O Bog V) BLOO.

() Who are Tarawaniwalas?
F200I TN HoBTeTOT?

(ff ~Name two private sector mutual fund institutions.
BORT AP -ﬁddmddcﬂmmwhdod Slo]r. S Y Il’ﬂigp nYa), BLOXD.

(z) Define stock exchange.
Bedy VB0 deor,d m9a) OO,
'lTIO'I
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b

\h) What do you understand by new issue market?

A3 dedy Ddond ;indaa’t{}aoddrm?

(1) What s certificate of deposit?

deed DSWRD3, 00007

)  State two objectives of financial system.

& CITOL) z.fﬂdﬂmab BTelr.§) uuc;;&‘ritfa_l w3 owD.

(k)  Who s bull?
"W D0dd alndo?

() What i1s open ended scheme in mutual funds?

JOLY ABNY 30T 03 Aeod aleesd SoEdeR)?

SECTION - B/ - w

Answer any three of the following questions :
VAR Weoad Suedy JZnen eu3dno !

Discuss the various challenges faced bv Indian financial system.

Woddeod) &mvazo <,S3adw SIARIeRAE {5 :;‘;:i_‘a;.,'dri#d.l ~odzoh J=DAD.

Who is share broker? What are his characteristics?

ded) dene 2ood alndd? ulw ogendesy?

Explain the structure of financial market.

 Fiel, ) mquun uuammq A3ID2D.

Wha is & ssec - -
ho is a speculator? Explain the different types of speculators.

u%msma QAlRtL? 226 Swedal ﬁhsg_!a%man#m DD,
-

Describe the impact of growth of mutual funds on the economy

u“Droe 0= |
tﬂar‘%un 2oees <030 dRodb WYSesrtal :—gmd;iﬁig{ QD20

&r

.

(3 x 5 = 15)

BUERTISL g Bdad VRHIRE. . B

LI

10.

11.

r
23528/E 410
SECTION - C/a%or - 8 .
[
An _ ;
SWCr any two of the following questions : (2 x 15 = 30)
evag Wdﬂ& fﬂl_@:ﬁhﬁ . !
What is money market? Explain the features and objectives.
Brd SR0CHFL, Hordery? BE0 VFRNYR) Forln evdeands) II020.
Explain the various mutual funds schemes. !
DOZG ABAY 228 ‘Ae0’ (alecsd)ndd) HID0.
!I
Explain the types of dealings in stock exchanges of India. ,
730033 Bedh QS0 Feodrvd Fdodna 225 ISwedadb FSFdrids) IO,
What is primary market? State the advantages and the reasons for the poor
performance of primary market. ,
TPWT IcFH, 20E0eR? HPT IRcHFLIoL uRoBRednd) re oy Y
F20LF ASF &I YU Fa0NYR) JSOD.
SECTION - D/ owert — @& |
Compulsory question (Case Study) : (1 x15=15)
gmab I8 (Z80n JBeER)
Amar, Akbar are the computer engineers. Anthony is a MBA graduate. All the
three would like to start a company to manufacture computer chips. They are
in need of capital. They together have 50 lakhs which they need for buying
fixed assets. They need working capital of Rs. 10 lakhs and need another
10 lakhs for having fixed assets.
Questions : |
(a) What instruments a company should use to raise working capital?
(b) Which instrument, according to you, is the best for raising working .
|
capital?
(c) How to obtain another 10 lakhs capital for the purchase of fixed assets.
3 P.T.O.
J
A

Scanned by TapScanner



23528/E 410 . Seoaomna

i _agab WO
W codalS  wodmey  Horjkien demdaky  OXRT
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) Qo 300 B0, o0 evgSomed wodtey K0T s A3 eBo?
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VA S 23529/E 420
Reg. No. : i
V Semester B.Com.2 Degree Examination,
October/November 2014
INDIRECT TAXES
Time : 3 Hours] (Max. Marks : 80
Instructions/seesdlned :
1) Answer all the Sections with observance of internal choice offered.
&0307 val)r! 29058508 e DRI eV3 020
2) Neatness with clarity and work notes carry due weightage.
I %) ey 5 Dedenrity
3) Section-D is compulsory.
DeTIT-& a’m;aimw
SECTION - A/apen— &
1. Answer any ten of the following : (10 x 2 = 20)
81 3INS Wewow 23, ¥U30D:
(a) What are different indirect taxes prevailing in India.

P03BATOST G BCecg 30rireh adnz)3)?

State the objectives of counter vailing duty.
300 30ricdhd 330833 werien (CVD) DRI 3B Idriab evde33exn?

What i1s assessable value?
301 APFOOS dﬂ% TV ETO?

Who is liable to pay excise duty?
920520 3&:1@31;1:;&.-;;3 250290 03ROt RW?

What is the taxable event in the case of central excise?
w50 301 WISRIST SV AdRIF)SF)?

!

A manufacturer of T.V. sold a T.V set priced Rs. 20,000 to his grandson
for Rs. 15,000. Which is the assessable value for the computation of
excise duty?

8.9, ouds decse Cw. 20,000 Udod .3 ﬂ% ogw. 15,000 n<on 38,
mﬁan SR0E3 IRBN? B Fodylr B 3D AFFOLI :b"Beﬁ5 adnz)xdo?

1 P.T.O.
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(g1 What is intra state sale?

& o ing the year it
4  Nagarjun Ltd, is the manufacturer of pPVC pipes. Durng ?
" .
0oz T 30807 500k Sllaleln VY

. rice 1S
manufactured 3000 pipes, and sold 2000 pipes for Rs. 960 Eaﬂl.s;r;fté)at 4%
inclusive of basic excise duty of 15.45% (including education cc¢

(h)  Who is registered dealer?
sales tax.

BRomo3E Swostimeddond adnoy?
Calculate Assessable value.

TorRod dobad moZodn 2D @i, S~ olaly SRBE>3 e adie
3000 FB)rids), Kb, 2000 Z)riedy, I 3almeocsd, OR. 960 alyoed SP09 . m
Sdodn 15.45% O, Soee owsed 304 53y Bgm  SxdOrobEY )
4% Bnoeks 30rabR) werteoBH.

20d 3018 QQEFdRLS :."Jﬂc.:ﬁ;ia.gl For) HBALD.

(i)  State any two merits of VAT.

gy, ISE et o]
dﬁ% S9F3 30rfab 2orD a‘ua‘fulmrﬁrwﬁﬂ 3920, o

() What is abatement?
2920 Je (abatement) 20833e307?

(k) What is invoice method in calculating the VAT?
3P, IPF3 DALY TUTE, AT F0TTeR?

() ~ What is import and export?

the following details :
8aiR3 FB) DadRFS dodderd?

5 Prashant Traders a registered dealer, has furnished you
(a) Raw materials Rs. 6,24,000 (inclusive of VAT at 4%)

(b) Wages Rs. 1,80.000
(c) Over head Rs. 1,20,000.
(d) Profit 20% on cosL. e
1abili t-put a 5%
Compute VAT liability. (Rate of tax on ou
ZJo2oiRNcy, Bs) & guhdod ISONYR
o [~

SECTION - B/ %R - »

Answer any three of the following : (3 x 5 = 15)
wemd 3008, cu3BL

2. Explain the features of central sales tax.

Pe03 Lled'E F03000 wody BRomODIE
geod, Soeoaks bBrtab OFRNIR, ITD2D.

E.lcab_d_d :
a¥7]
(a) E‘mﬁ;ﬂ'@ﬁda ds. 6,24,000 (4% god ;iﬁt%dﬁrs 280 werleodd)

3. Mr. Patil visited UK and returned to India

: after six months by bringing th
following goods with him. a2

(b) 8RémN dA. 1,80,000
(c) Soedtys,dn. 1,20,000.

d)  ord 20% wbid,SuD Soees
g Zosadn BREUET dﬁ%dﬁﬁf‘d 3ortaldy, godo BT (
3]

2810w 12.5% =d).

(@)  His personal effects like, cloth, etc valued Rs. 70,000.
(b) Two liters of liquor of Rs. 2.800.

(c) Two laptop computers of Rs. 28,000 each.

B0 370 B3
(d) A new camera of Rs. 16.000.

}Mhat _is the custom duty payable? Rate of custom duty is 36.05%
including education cess.

. c ir. He under
6 Mr. Alisha is a chartered Accountant in a i anjl ;?:thrgzd Kashmir,
takes the audit work of Syndicate Bank Shnna_gar g Svndicate Bank

and receives a sum of Rs. 1,40,000 as audit fee from S3

Shrinagar.

8caduz Tardew 90 6 3orie adw.3, et3ady Fo3d W203%

A &1 FYAS Szond a3t Joe
muamaéd. -

(a) w8 wiabog 2,088 IRyries de. 70,000.

(b) o8& detio =g, dn. 2,800, State the liability relating to service tax.

. p 2e2 ASF&S3Td. 8S0) ¥dad
(€)  20@> o35 doip, otrivs de. 28,0008, mordod, Be 0O 0 S8, FOBRCTI0RN TN F03y 40T, 5O 25

 wd 83ch de. 1,40,000 MY
(d) 200 85 5F00e B, 16,000. B¢ Frid saalady LoBeLs w080 g, SO3RCPTRAT),. ¥, 4
5 2 2dDm0.
;f:zﬁma:md M0 2008 222 eRodd 3088 BOF) 36.05% A, W B e
':4_5t?'-*ﬁt::d:.)icbﬂt werteolns. o S & 2oKidF g0 BI0H Fe tiela ;%éﬁ wITBOIV0?
9 a P.T.O.
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SECTION - C/deri— 8

| (2 x 15 = 3
Answer any two of the following :

8 3UNS Wevar SO, euIDD :

i — i ice tax.
What is service tax? State the exemptions available from serv

Beo 301 208deRd? Seme 30rtadbd 0 dTBLS 281 G&3 JeTe ISTVITY DeRD.

achineries for his own use in his

Mr. Sahajanand manufactured some m .
regarding the production of

factory. He furnishes the following information
those machineries :

(a) Direct materials Rs. 2,50,000.

(b) Direct wages and salaries Rs. 1,25,000.

(c) Works over head Rs. 75,000.

(d) Quality control cost Rs. 15,000.

() Administrative over head Rs. 28,000.

(f  Selling and distribution cost Rs. 30,000.
Usually he earns profit of 20% on total cost.
Central excise duty will be levied at 12%.

Find the excise duty payable.
B¢ 3@RT0d 63cL 3I) Bo3 evaalecrizN gom) 0003R,BF0NNYRY, VIDIWT. ¢
adod R eBFTHNY suTBTe IFCRYRY, B TYNT0I 0eBOZT |

(a) ®ed e, 3060 dwe. 2,50,000.
(b) ded 8.8 I3 Fowe de. 1,25,000.
(c) evITT ;thcfaiz.sucba. 75,000.
(d) romoe, dobod s 31, dn. 15,000.
(e)  Besed SoeerdSuy, dn. 28,000.
(f) Snooks Do) HI0T aﬂt.i&dfai 30,000.
mﬁmq;mh 30y Lt.igddz{*d Soed 20% eRygS®Y, 505030,

geod, 5D B0TR ©Box) 12% -'ndmd, w30y i Jbnulesad wwEd 3Dﬁoi)atgl gomd)
LB0VDO.

. I

Rajendra a registered dealer (Head office at Ahmadabad), furnishes the

following information :

i

Ae
...‘r
-

g

23529/E 420

Rs.
(a) Inter-state sale of goods (of this Rs. 16,20,000 is the
value of goods transferred to branch at Mumbai and
covered by Form F) 76,00,000
(b) Dharmada collected 8,900
(c) Weightment dues charged separately for buyers 2,10,000
(d) Cash discount shown in invoice and allowed according
to prevailing trade pracuce 1,00,000
.. charges (recovered from buyers 10 COVEr
(e) Indemnity g ——

transit loss at their request)

: i
Calculate the turn Over and CST pavable (CST @ 79, and VAT is 12.5%)

if all sales are made 1o registered dealers.
I R00rRUDTR0. sddy o dYhwod

S&INYR), Qed30
dwe.
(a) ROBoNY wo3T* ULy SR0MS (aSried, 0. 16,20,000 Wdod
smed S0
SR, S00w,090 izy = onztatiar] J——
LIS mc‘ﬁ'aaa“dimﬁ.moﬂd)
8,900
(b) c;i;dorma[[)hannada\ zon®
S seahd 2,10,000
(c) Sees*So0es® (Weightment) wedadd) e @gormeh 33,0 EDI R
A 3 1,00,000
d) =m0 533 Trelplraly acﬁqpm_mm S 2eed
%
Bd M SAFT)
(e) IR, PoZRD dzﬁu(a)ﬁrbmdd JeBdaiod &AF33), i

3550 Sdabeand)

Turn over)3y 033 WoRemd §eod) 300ts 3BACIRY,

o)
VR Sl Spdeand. deor, S0

gordy HRoLO. SRoetIST, [0 003
o ra:::'q::@% SBrs 30riadn 12.5% di;_‘-nd.

Spoatsrmodrie

30 o) 2°

P.T.O.
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